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10.

(a) Program

The worst type of coupling is
(a) Data coupling (b) Control coupling
(c) Stamp coupling (d) Content coupling

Path testing is a testing
strategy whose objectives is to exercise every
independent execution path through a
component or program

(a) White box (b) Block box
(c) Struetural (d) Object oriented

coverage is the testing to test
every statement in the code has been
executed at least once

(b) Path
(d) Statement

——— provides a quantitative
indication of the extent, amount, dimension,
capacity or size of some attribute of a
product or process

(c) Branch

(a) Measurement (b) Measure
(c) Both (a) and (b) (d) Metric
Which is not a size metric?

(a) LOC

(b) Function count

(c) Program length _

(d) Cyclomatic complexity
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PART B — (5 ¥ 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

11.

12.

13.

14,

(a)

(b)

(a)

(b)

(a)

(b)

(a)

®)

Each answer should not exceed 250 words.

Define software engineering. What are
the characteristics of a software?

; Or

What is a software? Explain the
software engineering layers.

Explain briefly functional modeling.
Or

Explain steps involved in the structured
analysis.

Ilustrate context

architectural
diagram. 4
Or

Explain the importance of abstraction
in software design process.

Explain the regression testing process.
Or
Describe the debugging process.
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